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ABSTRACT

Application of Maple for Improving Teaching Methods
on Secondary School Mathematics.

Deok-Gon Seo

Advisor : Prof. Nam—gil Kim Ph.D.
Major in Mathematics Education

Graduate School of Education, Chosun University

The purpose of this thesis is to introduce the function of Maple which is
a kind of educational software and to understand the graph and differential
equation using Maple in the course of high school. The improvement of the
mathematical power of students is emphasized in 7th curriculum. Therefore,
it is necessary to understand various method of teaching and learning.
Among various method of teaching and learning, Mathematics education
using the concrete models as studying instruments is emphasized.
Therefore, this study uses Maple as an instructional software to understand
shape of graph of differential calculus and function.

Using the Maple, it is not only easy to draw the graph but also help the
understanding when observing or summering the characters of graph. Also,
Maple can help a lot of parts in the course of high school Because it is
easy to learn and it can do symbolic computation, also it has a lot of

various function of graphic.



Teachers have to evaluate the student's ability using various methods, and
they spend a lot of time preparing a lot of set of problems and checking
them up. Using the Maple, such effect can be reduced. However, to use the
Maple in class, it is essential to have the computer literacy and teacher's

ability and various equipment have to be constructed in school.
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E(dooument mode) = Maple /& R =0l [> TEEITEJ Q0] LA Uy

(3) Tool Bar

) D2 BS&

D AS2H M IIY OHS)- IIY @)| - Y ME - DRIE - T2IE 0|22
0F0I20IC}.
(b) o Em B

)
D HEs e of0lE2Leg Ms A2 U,
=]

HI 2E SAHCtrl + C), Al Bl X2 20121(Ctrl + V) OICH.

(c) & ¢

TR NS MM YS AL HselE o0lROR

OFXISE & FA - OFXISE als F A CHAl &8 0FOI 20| CH
(d T I

Ms o022 TEeXTE= 2HotJ)| 28t 0t0I20ICt. 0l OtolZ= 2%otH
FAO CHIIAER ( [> )OIA TEXTE 2= OI&ENDF S0
S UM XS S=0otE CAl B30 HIOIE I =L,

_‘I‘I_



(e) b= 3=

HEN otol22 ‘dEs Jo €I1

< Bl &8 2= 2Z20=J1" 0t0I20ICt.
o) ‘s BUEIl MS

b¢e Tl ET @2 N1 O% S¢ TP EE «=2 MN! OHFD

Math as= =2 duniold
RSt == i3 olLD ol % (P nomal ~ ) ( Lucida Bright ~)(1z ) B

(P Heading 1 ¥ ) | Lucida Bright ¥)lje ¥ > Maple o] 2wl

» Maple 9] 24 ’
Y Maple T & 73 2] AlZ}

e FFeim A=Eet

» Maple T2 13 2] A% J vithiplote):

n| A 2lo] @R A o
ol 207 4o 5 Mapleg AHEE o
| A=t E ez g 284718

> with( DEtools ):

==k Hito] BHEE
> with(inttrans):

(f) !
X B Ol0I2E XA Worksheet A0l S BJY Ot0I2E H&E 1

OLOIZ20ILCt.

]l

() O
AHZ=0l &AHAZ HKIl AlI|I= OIOI20|CH. B S SEFA AN HFERL A AFOILE
ML 2N HE FO WHUNE BN 4 UL

_12_
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-~

oll

.

Rl

o
Ulo

fllJ

il

—
—

(4) Palettes

o2
<+

ioll
RO

ol
Ul

w0
fal)

U
10

H
DARE XL &

P Favorites :

o)

<
oJ

un
lof

<
<

Ju
10
Al

<r
oJ
il

<0

f

20l et Ot LIEFECEH.

00

© MapleE Al

(5) Context Menu

(6) Status Bar

)l
0

00

Jt. J12=el A ERA [3]

0l
fal)
<+

gl

)

ioll

ol
o)

o
50

Ju
<+

gl

D

3

o0

ioll

NIl

=L

()0l

2=
[

ol 2

2=
[

=

—

—

(2) gg2 20

B
0
g0

JJ
5

ol
A%
ioll

i

nJ
H

gl

m]

0}
1]
=)
Bl

ol

4o
E

oll

ol
00

AW

IS oHH0 LHEHUHAI=

|
=

|

f

oL

b

2
=

0l
A3

I

ol

0l
(H

tCH.

9]

—

(=)

O410F 401 Dt

=
=

s S

9]

% Maple 7 Ol

StCk.

Ol &=l 010k

et

)

iof
el

I

oJ

3+

gl

D

ol
%0
G0

up
0

tCEH.

—

IS)

FO4 A Kl

£ 0|86
— 13 —_

=

R = Z2U=2 'Ctrl + Del!



S
1
(_J'U
&
o
o
=

0
(&)
o
o
(@)
I~
o
1
i
&
o
Il
0l
=
0x
10
i
Il
o
]
[m)

(8) 2Xt& 1t 3XtE plot HES MEE M, BII SES Maple JI227I2 B

0ll) ?plot/options == ?plot3d/options

(9) AIANES Ad”e HE 2 AtotedH, Maplel] WA= spellchecker
o) ‘=3 - A '8 MEIGIHU <F>E AME.

ol 2
= o

oY
>_

(10) Maple FIDAIEN HAES FItoteddH,
o) ‘&g - BIAE" S MEIGIILE <Ctr [><t>5 ALE.

<Ctr>+<Delete>E 018 (LFW =SS AHMot=0 2¥)8 +ELIC.

(12) WIIXKI0A otLIS &2 = B2 SHAS AI=Z2otdH,
H with(IHIIXIH, &=
ol) ?with @ ?UsingPackages

(13) 2= H stg2 2lAIGHAE, restart HEE 012
Ol B2 Maple HIZ2IE XNR1D HLE 2|4 st

0ll) >restart

_14_



(14) 2E M FAIANE =222 221H “Zexamples/index’ £ A2,

2
Ity
)

(15) D2 +lE HPHo| FWE FASIAB, % Atel

MapleUl M %ACIE ditto HA&LXIZ2 1= EICEH.

ORI 2O A B 2812t 3ETRH Z0H0Il CHol&d, 272t %%2k %%hSE ALS.

(16) Maple FIZAIEN HAES FOoteA™
‘oY - HAET S MWEIGHAHLE <Ctr I>IT>E ALE

(]

Lt. J|Eda At
Maplell FEOO0 CHoHAM A THEAF. Mapled (M $£AlS s S ==
HAMZ Z20F LIEHLFES 6D fIoHM HE XA oHOF dl=Xl ZO0tE AT,
(1)~(3) &, sS4, 24 HA
>2008+1109
3117
>2008+1109=3117 [ '2008+1109' CtS ‘Ctrl =' 2& ]
> axb <
ab
> 3/5 + 5/9 +7/124d [ 222 2/& 5 'Space key' OIS 4+ ]
313
180
¥ =5 HAGID AS O HRD A2 £2 288 5 JE HFH HAE g0l Hi2
Ct.

_15_
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(4) Ms2

> 123723 d

8116900821501443291746534857888750680076954 1157267
# Maple 122 Z&et Hlits ot =8, HES otk &1 tEH0 25
=Lt

H DD 24, M2 ASUMN A% 200 FZHE 2 AU

Ir

[202.2.219 20| ‘asb’ = ‘a-b & ‘3/5(5/947/12 = %+

9
123023 2 C123%° S 20l R0 M= 24 Q02 HESEE.

rr

(5)~(6) 2E
20| LT EE LIEID| RolAd= ‘sart( )'ele HEUHE AIZSHC.
> sqrt(24) d

26

PEEHZ HAEIO 28 &0,

ol

22 V24 2 HIIDA &0 Z&

r

i
>
2
>
=
my
S
nal
o
i
o

¥ ‘sqrt’ ChS 'Ctrl + Space' = 'Esc
e e’ Sk 22 YH2Z AtEotH =L,

L= PalettesOlAl AT | "pABE HH S= AFZotH & L.

Ol) 90 Ct2 'Ctrl + Space' &= 'Esc' A2
) sqrt(24)

A 2J6
¢ sart

st st

_16_



Maple= 2Ol M= S0l pictd HEI|SHCH
>4x(3tpi) <
12+47m
(9)~(11) X8tz
KA X a=gt4e”"S UG H exp(x) HHS AFZSHT
>exp(x) <
T
e
T
>e” d
T
e
>exp(1) <
e
g2 @D 28 82 duslole 23031
(_C 20nput v) (uza D@y BIU E== Bh =i
| 2008 + 110
. 3117 (1)
54 2008 + 1109=3117
| a-b
al 2b @
3.6, 7
stgta
313
N - @)
1298
Al 11690082 15014430017 465348578887 5068007 60541157267 (4)
¥ sqrt(24)
Al 2VE (5)
A 28 (6)
Y43+
4l 1+4n (7)
(347
Al 144w (8)
| exp(3)
A ©
P
2l e (10)
] exp(1)
Pay (11)

[292.2.2] (1) ~ (11)

_17_




(12)~(14) 2Ozt
B zIS LSEotHAE abs(x)EE S AMEEHC.

>abs(x) <

>abs(-3) <
3
>abs(exp(1)-pi) <
|—e + 7l

[
o
1
HI
é?:l
U
Ol

>ifactor (21722722304) <
(2)'°(3)(7)(13)%(29)(43)

x4
GOl 2T} YS UG oM seq(=Al, BIA AR

(Jh) 1268 1000tX M=%
>seq(k”2,k=1..100) <

1, 4, 9, 16, 25, 36, 49, 64, 81, 100, 121, 144, 169,

Il fIHM = ifactor( )HEHE MBS

z)ge

nio

AE

o

Ct.

196, 225, 256, 289,

324, 361, 400, 441, 484, 529, 576, 625, 676, 729, 784, 841, 900, 961,

1089, 1156, 1225, 1296, 1369, 1444, 1521, 1600, 1681,

1764,

2025, 2116, 2209, 2304, 2401, 2500, 2601, 2704, 2809, 2916,
3249, 3364, 3481, 3600, 3721, 3844, 3969, 4096, 4225, 4356,
4761, 4900, 5041, 5184, 5329, 5476, 5625, 5776, 5929, 6084,

6561, 6724, 6889, 7056, 7225, 7396, 7569, 7744, 7921,

8649, 8836, 9025, 9216, 9409, 9604, 9801, 10000

_18_

8100,

1849,
3025,
4489,
6241,
8281,

1024,
1936,
3136,
4624,
6400,
8464,



20N EAZ0l B2 AlttoltH 22 HIIJF DI0A HFADE &0
ofXlgh 2 A=d FEHZ ==5= A0l 2Rsdl, 1 g2 evalf( ) BEO
£ AMESettt

> 3/5+5/947/124

313
180
> eval f(3/5+5/9+7/12)
1.738888889
>evalf(4/2)<
1.414213562

Seval f(/2,20)d [ evalf(24l, S5=X XH) ]
1.4142135623730950488

il abe(x)
A I (12)
57| abs(-3)
o 3 (13)
| abe(exp(1) — pi)
Al |-e+4 (14)
| ifactor(31722722304)
A (@9 3y (7?2 (137 (20) (43) (15)
M seq i, k=1..100)

1,4,9,18, %5, 38, 49, 64, 81, 100, 121, 144, 169, 196, 275, 256, 280, 324, 361, 400, 441, 484, 520, 576, 625, 676, 729, 7B, 841, 900, 961, (16)

1024, 108, 1156, 1225, 1296, 1360, 1444, 1521, 1600, 1681, 1764, 1849, 1036, 2025, 2116, 2200, 2304, 2401, 2500, 2601, 2704, 2300, 2916,
3020, 3136, 3240, 3364, 3481, 3600, 3721, 3844, 3969, 4006, 4225, 4356, 4489, 4624, 4761, 4800, 2041, 5184, 5329, 5476, 5625, o776, 2028,
6084, 6241, 6400, 6561, 6724, 8880, 7066, 7225, 7308, To60, 7744, 7921, 8100, 8281, 8484, 8640, 8836, 9025, 0216, 9409, 9604, 0801, 10000

€3 5
| [
sfet
1
% an
2 s = o
| J bl |
evaff[ z + 7 + E]
Al 1.733388880 (18)
] evalf(yT)
A 1.414213562 (19)
N el 7, )
1.4142135323730050488 (20)

)2

[192.2.3] (12) ~ (20)

_19_



(21)~(26
HAH Z 2ol 015
¥ Mapledl A “:="

“o_ro },|’H._49| I:I:‘

o

>k:=3/5+5/9+7/12 d

>eval f (k)

>K

>K

a2 At

s ¢

% Maple=2 OH
x HOLE 2
>joey:=2"5d

>sart(joey) d

=

o
o
2
I

[

sqrt(joey)

b > B 4

=

ot

) 2&E gtoll OIS

= —]

“

=0l <

4>l

]
==

=015t
B0IAR B2IE HYS & + 9.
2 <012 XD U “=" = 55012,
Cuel A, T= 4B HYSE 22 A0IpT
313
180

1.738888889

313
180
K
& St
AMEES = QUL
32
42
313
180
1.738888880
313
180
K
32
17

[192.2.4] (21) ~ (26)

_20_

(21)

(22)

(23)

(24)

(25)

(26)



(27)~(30) A& HEHS gt EAIGHD|

HAAIN A=d HENS g2 2EotH, 1 Z2g GAl AESHENEZ LHEFLA
=i

>sqrt(34) J

V34

>sqrt(34.0)
5.830951895

Ttz o=z,
>5-4/9
41
9
>5.0-4/9 4

4555555556

(31)~(34) A==l gt LIEHHDI
seq( )HEES HEXOl g2 UEHU=E OHE HE0| Jtsottt. s ¥g2
B 100K XtA4ol REZS L)ool =Ct. Jell evalf( )

H SR 2AXIS

>result:= seq(sart(k), k =1 .. 10)d
1,v/2,v3,2,V5,vV6,V7,2v/2,3,V/10

>evalf(result) <

1., 1.414213562, 1.732050808, 2., 2.236067977, 2.449489743, 2.645751311,
2.828427124, 3., 3.162277660

_21_



Oldel gtel 2AS g B2 ©0l ALk, 02 Of OFCH DHe =
S A8ots X BMHZE LOIC. HUE JIS(%) e Ht2 & =2 g2 LIEHUH
o =0
>3/4+5/6+7/8 4
59
24

>eval f (%) <
2.458333333

v sqrt(3)
A g ()
¥ art (34.0)
A 5.8300218% (28)
V. |
3
4 )
A 9
V..o
2.0- 7
A 4.595559536 (30)
V result = seqlsart(k), k=1..10)
A L2325, 08,07 2y2,3y10 (31)
V eval f{result)
A 1., 1414213562, 1.732030808, 2. , 2.236067077, 2.440480743, 2.640751311, 2.828427124, 3., 3.162277680 (32)
N
46 8
50
ki (33)
A pit
v eval (%)
2458333333 (34)

[192.2.5] (27) ~ (34)

_22_



(35)~(39) Clearing Variables (4= MA2l)
HE st HOIoHH, Maple2 B HHS ot U= SCHU D gt= I stCt.
OtoF ) B0l M2 S 22EolH, ME2 2tol WEel #H4IF MAQl &I,
>hd
h
>h:=56
56
>hd
56
>hi=sart(pi) <
Vr
>hd
Vv

(40)~(43) MHMHZ 0l0l XIAE BHE0 SHU=
CIE AlUHAM O BHE AISE MoF AUACH. HE =
>x:=65d

Liss AHlol Hell
O x0ll 65ct= gts

i
=
4N
kJ

MZ2 20O 2*—4x+72 LEoI0 Wete 01822 01 4
g o A2l xgte Ol g
g2 SHGHH ELICH

Wi =24 x+T <

x2| =i U2 MAEFHGHHAH, 'x'E AME0IN ol ES AHME &= UL,
>xi="x"d

>

SWi=xX"2=4*xx+7
2’ —A4x+7

_23_



¥ (44)~(46)
restartd&d 2
¥ Maple &2

Jg= 2 H=2 WEs= AMotH =t
J8s MAEY M= restart SSHSEEH AIAGHA.

>pi=7; mi=9d
>restart
>p
>md

Vb

pa\

| b= 36

2

Vb

P

™| b= sqre(pi)
4

~h

pa\

V] pi=83

4

Y ri=r —Lr47
4

Vp="y

<

ve=r-4x+7

2
Mp=Tim=9

62

372

FolgeT

[192.2.6] (35) ~ (46)
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(35)

(36)

(37)

(38)

(39)

(40)

(41

(42)

(43)

(4)

(48)

(46)



Ct. Oz A
Maple2 “C.A.S" = Computer Algebra System. 0212 MapleOl Rl Ol= 2
=2 Hxlg 2 Ulh= 215 0|8t
&MOH, Ql4=20ol, 2tASIe 22 HENWHE LOIEAL.
(1)~(3) subs()xA
Al Taoln 0218 Wels a0l XIEGHA.
SWi=3*x"2+8

322 +8
Ol < A0 B0l 42
>subs(x=4,3xx"2+8)

56
>subs(x=4,w) <
56

(4)~(6) subs()HAt
subs( )HHE S A4DF OtL DS HMSE JISOICH. x0l JIS2 HelstHE oS
22 2T 2SS £ QUL
SWi=3%x"2+8 <

32248
>m:=subs(x=5+2*u,w) <

3(5+2u)*+8

2 Al nsS MIHE [He expand()etes HEHE A= SHCE.

>expand(m) <
83 4+ 60u + 12u°

_25_



)

oAl At

s O

0l
%0

.

==

subs( )2

(2/5)*x 243y <

>u-

E;$2%—3y

=7,y=12,u) J

>subs(x

278

>evalf (%) <

55.60000000

otJ|

(10)~(13) He

o
U

ioll
ol

ol
NS

-
1o

ol subs()

<l
KO

q

=3

03
<k
ioll

70
2

]

o
0]
ulo

S0l gLk,

=0 d

XN3=B*x 2+ *xx—12

>yi=

2 =522+ 72 —12=0

=3,y)

>subs(x

-9=0

=4,y) d

>subs(x

0=0

=5,y)

>subs(x

23=0

_26_



. LT J

. ir+d
¥ subs(z=4,3 £+8)
R 56
™| subs(z=4, w)
4 o6
Ye=3448
A _ ir+d
Y m= subs(z=5+ 21, w)
N 3 (5+20)°+38
| expand(m)
N B34+80 ut 124
Yy 2 a
U= [;]X‘+35
5
gl
St 3y

" 5
N subs({z=7, y=12, 1)

278
) eval (%)
A 52.60000000
V 2

A5 F47 1220

s

) subs(z=3, )

Al -4=0
) subs(z=4, ¥)

Al 0=0
¥ subs(x=5, ¥)

Al 23=0

[192.2.7] (1) ~ (13)

ct. expand()H

expand()= &N FHOIH CratAlFEer OtLiet &f2tat=
SO == UCH st dEAS HLAME solvects
OlXI==2 gts #= = UL

_27_

(1

(2)

(3)

@)

(®)

(8)

(]

(8

(9)

(10)
(11)
(12)

(13)



(1)~(3) expand(

>ki=(x+1)*(y+z)

>expand(k)

>expand(k, x+1) <

(2)

>expand(cos(2+x))

NI

af2tere &K

>expand(sin(2*

(x+1)(y+z)

xytxztyt+z

[ expand(B1%=, =014 |

(x+1)y+(x+1)z

2sin (z)cos (x)

QCos(x)Q—-l

Sy =xM(1/2)*(x(3/2)+x*(=1/2)) 4

>expand(y) <

k= (z+1)(v+2)

A
=~

expand(k)

A
| expand(k, z+ 1)

Fay|
| expand(=in(2 1))

Fay|
| expand(cos(2-x))

A

2
" +1
(x+1) (y+2)
Ty+rz+y+z
(z+1) v+ (x+1) 2
2 sinfx) cos(x)
2 cos(x)g—l
Jx [13+ L_]
\-IX
F+1

[192.2.8] (1) ~ (7)
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(1)

2)

3)

)

(5)

(8)
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AE SIfote 20I2tE Btz =4S Jl2 ==

FOoF= &=+ factor SE0OICEH.

(1) factor()At=.
yOll {3*x"2-10xx-8} AlE HL
>y 1 =8xx"2-10*x-8

gl

(2) ol==20H HHEONQ! factorsS Al=20oH =20l olH=Ct.
>factor (y) <
(Bx+2)(z—4)

MO
ol

(3)~(5) A2 &Il expand() B A2 = factor() FE2g 0l
>restart
>y =% (X—2)* (2% X 2+5xx+2) * (x+4)
2(x—2)22* +5z+2)(x+4)
> ans:=expand(y) <
dat +18x° — 8a° — 722 — 32
>factor (ans) <
2x—2)2z+1)(x+4)(x+2)

(6)~(7) Ct==2l BI=E Jt&l Alg QI=Z0H 5D
>restart
>7:=X"2xy+2xx*xy+y
Y+ 2ry+y
>factor (z) <
y(ac-i—l)2

_29_



(8)Ql==E0lIt &Kl &= Al

>factor (3*x"2-10xx-9)

322 —102—9
(9) &r2tseh==
CretAal220r ofLlel ChE AUE factorPE S A2 = UL
>factor ((sin(x))"2-(cos(x)"2)) <

>restart
Sy =(xA3=7*x 2+15%x-9) / (x 2+4*x+4)
o’ — 72" +150—9
o’ +4x+4

>factor (y) <
(z—1)(xz—3)°

2
(x+2)
My=3L—105—8
4 3F-10x—8 (0
| factor(y)
A (3 x+2) (x—4) (2)
< restart
Mym=2 (=2 (2 F+55+2) (x+4)
ol 2(z—2) (2 245x+2) (z+4) 3)
| ans == expand(y)
Al 4741828 F -T2 232 )
~| factor(ans)
Al 2(x—2) (2x+1) (z+4) (x+2) )
>4 restart
V’z:: 32}'-#2:};-#}"
A Fy+lxv+y (6)
~7| factor(z)
Al v (z+1)° )
= factor[S-z{z— 10z — 9}
Al 37-10zx-3 (8)
i factor(‘al'n(x)zf cu\a(x]z}
) (sin(x) — cos(x)) (sin(z) + cos(z)) )
Xrestzr[
¥y BT 4tea—0)
(F+4x+4)

B T e

X G + 156 x—8 (10)
Al Fhdatd
~| factor(y)

€ iy (Zf 3)° (11)

Al (x+2)

[22.2.9] (1) ~ (1D

_30_



(12) numer () and denom() E4417

>restart

tI1

i
Ol

Sy =(xA3=7*x"2+15%x-9) / (x"2-4*x+3) <

(13) 22Xt HAHH
>factor (numer (y)) <

(14) 222 AL

>factor (denom(y)) <

W restart
C (1)
A

W factor{mmer(y))

A
¥ factor( denan(y))

A

=T +152—9

> —4x+3
(z—1)(z—3)?
(z—1)(z—3)
?-zr’ﬂag-g )
i3
(1-1) (13 (13
(1-1) (z-3 W

[192.2.10] (12) ~ (14)
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M. simplify(), solve, fsolve ¥&

_,_

v

~(2) &l 2tASI5HD]
g 2tast & M simplify()2HES AIESt

SM:=cos(x)"5+sin(x)M+2xcos(x) 2-2*sin(x

1
|

> o~

J

Ct.
"P—cos(2+x) o

) (x)
cos(x)5+sin(w)4+2cos(x) —92sin (x ) —cos (22)

>simplify(M) <
cos (x)5— 1+ 2cos (ac)2 +cos (z )4 —cos (22)

(8)~(4) simplify( ) RclaZ0].
>mi=(1/(x+1))+(x/x-1)) d

x+1+x—1
>simplify(m)d
20 —1+2”
-1
(5)~(8) solve H&
> solve(z!—32°+2=0) <
~1.1,v2.—+2

>solve(zt +22°+9=0) d

1+7V21—-1V2 —1+1V2 —1—1/2

>solve(x’—22—3>3lx—1])

Real Range(Open (5),00 ), Real Range(— oo, Open (—

>s0lve(6z®+11z—10=10) <

2 =5
372
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(9)~(10) solve 2+ fsolvell XiO|&

fsolve= solvelt &2 Jls2 ot=0l, solvelt THE &
Aboll ol =CF.

>solve(3z> —z—6=0)d
1 1 1 1
__|__ s — —
6T G V73 56 V73
>fsolve(3z? —x—6=0)

—1.257333958,1.590667291

4

I= cos(z)a +sin(z)*+ 2-c0~3(;{)2 - Q-SIn(x)z - con(23)

A cos(x)6+ sin(z{)J‘+ 2 cos(z):—Q sin(x)i— con(2 1)
V] simplify(H)

cos(x)a— 142 cos[x]2+ cos(z)J’— con(2 1)

o
1 by
o= (1))
by
R Py s,
7 sinplify(m)
2r-147
£-1
v soive[xi—B P+ 2=0)
1 l V“?’ 'JF

A

v soive(x"l+ 1+ 9=0)
A S4+147,-1-17,1412,1-17
Y solvel A - 25— 333 15— 1)

A RealRangel(pen(3), =), RealRange( - e, (pen(-3))

Y solvels £+ 112- 10=0)

[T
'
BTy

A a2
v soive(B f-i- 6=0)

NiE)

I
[T e

+
i | —
-
I_l3|
|

]

A a
v fsoi\E(S-f— x—6=0)

A -1. 257333058, 1.300667201

[1¢2.2.11] (1) ~ (10)
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H 3 &

H1Z& 4=

MapleOl A =201 CHet dH=ZE ddUi= JHE JI2&80 Y- plot
AEdt= Z10ICH.
1. el 2ld|
Jt. plot 2%
(1) plot(=4&l, 8= YS)
+EHEO WA '-3<x <3 Y M ‘x=3..3" LSS,
a~re @ED 2= -] o] LI ol o2
-'_[2 2D Math v'i--'_'tng.iﬂ V'--Z_'_12 ) BQ EE EhLR =iz
ot [ - Bt )
2 74
\
\ o ..
X /
\\. 5 .l"l.l
"\.\ l.-'
'\\ ] /r’
I.\\I 37 I."III
\ N y
\\\ g f'/
3 o 5 0 1 /,x";
\\;l' ///
al Sl
[193.1.1]
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ok
il

K

(2) plot(

.9)

=-3.

pfor[z{zf 2. x=-3..3. %

=7

[2%3.1.2]

—

0D

ok
il
A
Rr
<+
oF
il
A
=0
<+

<
<

plot(

(3)

)
{d
K
B

% scaling

.9, scaling= cons:rafned]

y=-3.

.3,

ol or(

q

[1%3.1.3]
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= (1), (2)0IME= scaling 80| CIZE
(@]

2 unconstrained A& L0 x=EW y= = 2tH0] x=2 HRALA y=O HL
N

o BIE0l =&AL

Lb. 8 HEW A0 o 2= 12l

(1) plot([==4&l1, ==AI2 ., 2AIn], 82, S4)
plot &= JOU=Z AE5tLD 0l M =Alg [ |7 RSE AMESHH

> with(plots) :
™\ plot([sin(z), cos(x)], x=0..2n)

Y 1 e 3\ 4 |5 é’,/
/
-0.,57
A 1=
[1%3.1.4]
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Ct. &2 = 1eld|

(1) y=ax (a#0)2

(a) pointplot (&
>with(plots):

>data:=[[-2,-4],[-1,-2],[0,0],[1,2],[2,4],[3,6]]:
>pointplot(data, scaling=constrained, labels=[x,y]);

(b) y=2x =

>plot(2*x, scaling=constrained, labels=[x,y]):

defzol e

HE JeHI)

207

¥ 10+

_37_
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(2) y=x/a (a#0)Q D=2 &

(a) pointplot (& AE eHXZE) 6
>with(plots): d

>data:=[[-5,-1.2],[-4,-1.5],[-3,-2],[-2,-3],[-1,-6], .

[1,6]1,(2,3],[3,2],14,1.5],[5,1.2]]: ¥

>pointplot(data, scaling=constrained, labels=[x,y]); 2

|4 T _|2 o

° -

—d-

& -F-

(b) y=6/x JeH=

>plot(6/x,x=-5..5,y==6..6,scal ing=constrained, labels=[x,y]);
6 |

\
4 \
o
N
e
\ .
\
\
\
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(3) y=ax (a>0)2 d2HZO0A all 2 Oehz=ol H3t
>plot([x/3,x/2,x,2xx,3*x],x=—1..2,scal ing=constrained, labels=[x,y]);

e math @ELEP == oL :
P @NO00C o 'DE U] P - - HHEE -
(2)
pfot[[%, %, X, 2o 3-5’], z=-1..2, scalinz= constrained, labels =[x, y])
T 4
5
4
/ /) ==t
¥ 37
o (3
RN/ -
[ =
1 2
EaN e
=
¥ Tl oHofl IAEES ZH4H e Mei(1) otH O HisIt LIEFC
8 HisuA (2) 28 = Jdte /IXI(3) Ol HAES &5t &

(4) y=a/x (a#0)d2 JDeHZOIA a0l 2 =l Het
Splot ([1/(3%x),1/(2*x),1/x,2/x,3/x],x==5..5,y=-5..5,scal ing=constrained,
labels=[x,y]);
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H 2 & <10-LbO0IA Maple2 &88F &40 =

1. Rag&=+o Jad=

b, 84 y=k/x (k#0)2 =
(1) >plot(1/x,x=-5..5,y==6..6,scal ing=constrained);

1 || y=1/x

¥ lL

24 u\

T = 0 ) g

™, x

_".;Ig—
|
4

[1¥3.2.1]
olgstd OHEH [O

y=1/x 2 ZJ2HZZE MaplesS
0l JNZZ22H &= y=1/x 2 XI<e 0 0l

3.2. 1] &8 RO 20 &L
Obl A== MXI2 Hefold, 80l ot tHEel =8 = OloiEe = UL

(2) k>0, k<0 O A=
a) >plot([1/x,1/(2*x),2/x],x=-5..5,y==6..6,scal ing=constrained);

b) >plot([-1/x,-1/(2*x),-2/x],x==5..5,y=—6..6,scal ing=constrained);

—_

i % k<0 |
¥ _'.I'ul = él-
2 1\ - ___f_{/ )
‘_—ﬁ:@\o T 5 y 2 9 v
| ¥ M/ =*
_\f' 2 ill'
! ||
4 (@ [2w3.2.21 ()

_40_



K>0 & I ko Lol et y=k/x 2 =Sl JHES
2 M &= k>0 2 JJHZEE Maple=S OIEot0{ 1S

[183.2.2] (a)2 22 1O

HESE =0 OFEIIKZ k<0 & [ k=2, -1, -1/2 & M y=k/x & JOcHEES
MapleS OIE0t0d =29 [183.2.2] (b)Y &2 dcHZE =0 [MetA &
2 y=k/x 2 JcHE 912 HE2 x2 ZEU0l HOtE+= x =, y F0l JIES
Olohe == RUCH. L&t y=k/x 2 JdefZ= FAAY XS0l 25 02 MLl A=
SMe M0l k>0 M dHZ= M 1,3 Al=8H0 U k<O 01EH deiZE= K
= 80 Uoto

2,4 N280 ASS & = UL, 022 y=k/x 2 i
= ol

L. &4 y=k/(x-p)+q (k+0)Q =
>plot(1/(x=1)+2,x=-5..7,y=-5..7,scal ing=constrained, discont=true);

6 \ F=1/(x-1)+2

-d -2 O \ = d G
-0 Il
— g — |
[Z2%3.2.3]

28 y=k/(x-p)ta (k+0)2 deHZE= g y=k/x2 JHZE xF2 Yo
P23, y=F2 HF2Z oS B Olsst H0ICH Of O, Ol &=62 HI2H=2
A& x=p, y=q OICt. MapleS So 2= y=1/(x-1)+22 JHEZE Oed= 2t
[Og3.2.3]0 22 200t LRt S5 y=1/(x-1)+22 deiZE y=1/x2 1
diZ= x=F2 gz 123, y=R2 &=z 20t Ed 0lsed J2d=2

(=1 [=]
, y=2 &2 AAHCZ FEot Oloie = UL



a) >plot(sqrt(x),x=0..4,scaling=constrained, labels=[x,y]);

Ch. 84 y=+Vazr (a#0)2 JH=
(
(b) >plot(sar

t(x
t(-

x),x=—4..0,scal ing=constrained, labels=[x,y]);

(a) [193.2.4] (b)
y=+ar (a#0)2 2HZOl MO Hot0d LOIEI| SIoH M a0 o 2+EHst
Lelgts y=+z 2 IS a<0 0o 28t y=+v—z 2 JDHZZ MapleS 0l
25101 DAL [123.2.4] (a), (b)2 JHTIF AOIXICH [MetM P2IEts
= Vaz (a#0)2 J2HZo IHES MapleS SaHM AZEO=Z H=5tH OloHE

Taut

>

ct. 8% y=+Var+b+c (a#0)Q =
>plot(sart(2xx—6)+1,x=0..7,scal ing=constrained, labels=[x,y]);

T—
6_
5 v=J 2x—a@a 1 -
4] —
¥ ,f”/”
o f/fﬁ
] ;
O T T T T 1
o] 2 =8 5] i 10
i
[1%3.2.5]
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o Var+b+c 2 JdZE & y=+var 2 OHEE x5 &z —29
a
2, vy Yo 3 Hll 0lse AOICH. S S0HAM &= y=+vV2r—6+1
O JeHEE MapleS OI8otd del™ [Og3.2.5]e 22 ZIt LI20H [etM
=

oo
10
Hy
E
ol
08
02
=
0
o
L
¥
K
I
il
N

2. &2g+2 Jdo

Jl. y=sin X, y=cos x Jdci=
(a) >plot(sin(x),x=-10..10,scal ing=constrained);
(b) >plot(cos(x),x=—10..10,scal ing=constrained);

y=sin(z) y=cos(x)

s , . lV , ~ , . /_\\. v /J'-T\\ . A .
_10 -5 _,_fl/i \_5/ 1o - 1_0__.,/ - 5\\._ _ li \\._.-"/5 \‘\_J.-U

(a) (b)
[1¥3.2.6]

y=sin x 2 JeHZ 2t y=cos x 2 JCHES MHES LO0tED| QA MapleE 018
ofAM Del® [0'3.2.6] (a), (b)2F 22 ZUE y=sin x 2| Z1cH
It y=cos x 2 o2 Al MAIQl &0, XNHE2 {yl-1<y<1}0ICt. L&
y=sin x 2 JdciZ= J|E0N CHotd HE0I112, y=cos x 2 =
HEYE & == U2H y=sin x 2 AN y=cos x 1=

ol o
= F)IEaUS AAEOZ OlahE & UCH

_43_



Lt. y=tan x 2 Oz

>plot(tan(x),x=—6..6,y==6..6,scal ing=constrained, lable=[x,y],discont=true)
¥ Maple2 20=H Z2HUA HO 2==ol Mg QS LICH

S8 ‘discont=true’ & E€0{F=H 0| &2&0| 20|X £=C}.

o E2 ZUE =0, g y=tan x = AL n7r+g

= &dMe HEoll, Xge A= MM deggs & = UL L£g JfE=s &
0l Uiotd WEOIK 72 FII2 ot FJIg+s 2 = UL Lot deize]
d2E= Ao 0:n7r+5 (g E=)Us AMAEH2=Z ZEGHH OloHEy = UL
(6].
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H 3 &< 371>0A Maple2 88 &9 iz

1. N80 iz
(a) >plot(2™x,x==4..4,y=0..10,scal ing=constrained);
(b) >plot((1/2)"x,x==4..4,y=0..10,scal ing=constrained);

107 - . i
y=3_‘l_ IIII |III 10
d IIII y= Lt III' Y
| _T |I
6_ ||IIII IIllll 6_
7 / IL'*. ¥
‘1-_ / '.\\ q__
/ \
21 \2_
- / \\
4-3-2-101 23 4 4 -3-2-10 1 éT-i
r poy
(a) (b)
[1993.3.1]

adt 1 Otel 2k 2 [, &= x0l oS HEAI= &= y=a" S a8 222 ot

o
w

= N2t Sk y=a® =2 JHHZS OlolAIZID] fIoHA a>

el ZE Maple= O0I20HA DHdEH [0

Jb 20, y=2"9 Fo9z A MM &deold, X
ISH0ICH. &= x2 8t0l SJtotH yo| gt SJtotd

g0l OIS yol gt2 0 O e8lol JIMEs & = UL 2 xF2 A=

—
o
—

N

y=2"9 JfZo HIMUS OlohAIZ = UCH USES K=&z y=(
HZZE Maple2 O0ISohM =0 Iy=(=)'=02 )'=2"" o022 &=

ol deiZe &4 y=2"2 JcHZ y=0l st & 0lSst 20ICt.
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yZ(%)‘Ti’J O E Maple2 01256t D42 2 [1203.3.1] (b)2F 20l LI

1

A = 0 Od80A & == JAX0l &= yZ(g)"”Oﬂkl x2| gt0l &Jtote

2
<
10

Y

Ol ZABICH & & yz(%)‘”el aWTE H (0,1)2 XUD x2 20l B0l

HAH yo g2 0 0 et8lol HIMAXNEZ x=2 0 2l HZ2HS = OloHAl

2. 289 i

(a)>plot([2°x,x, log[2](x)],x=—4..4,y=—6..6,scal ing=constrained, lable=[x,y]);
(b)>plot([(1/2)~x,x,log[1/2](x)],x=—4..4,y=-6..6,scal ing=constrained, lable=[
x,y]);

(a) “Ih)
[1213.3.2]
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HHO TBUHAN %ol A MO oz

O EWECH B4 oI Aok y=a"0l

M x2 y2 BP0l =28 r=d’0ICt. & 2709 Fool M r=da’ ©
* o

éI'_J'\_E y:logam (a>0, a:f:1)0|

0

oIptao] NEZUE 284 y=logrol IHIDE= K484 y=q"0 IHLeY

A& y=x0l CHGtO! CHEOICEH. y=log,xz (a>0, a#1)2 2HZ2| JHE S OloiotD|

y=log,x2l TeHZE Maple2 01E5t0 1el™H [1&3.3.2]

()2 22 OHZE =0, JUAM 2 = JUS0l &= y=log,r dehHZe= A

H dgr=2 d&0l 2ot ZF@oAdz2 29 = MM &

S 2 = UL a1y M &= y=log,x2 1k

2

TE Maple2 01004 DelH [1O838.3.2] (b))t Z2e ez

y=log,x ZJHZ Al A& y=x0il CHOtOd CHEIOIH &2l H&0 2IotH
2

A
=

rr

Ct.

S

10

)l

A2 20l A MM e, XH2S A MM HEds 2 5 UCHI9].
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T

H 4 % 0223

ot Xt

[¢]

H 1 & Maple2

1. Maple Z2&09| A%
Ji. O3 gEoz AE
> restart;

> with(plots):

g [

t

1

20|

RO

0
gl_._

AE HH0IRA OS2

g

—/

tlI-JCC;I/\

INEIPAS
MapleOlld O] 28!

> with( DEtools ):

s

2. MapleOliA2l DI2YHAS U

o]

_48_

tol

C
=

F

2
[

tHO4

9]

ols

=

=

$

>diff( y(t), t$2);

2

Il

(2) S2H:
S

> diff(y(t),t,t);



i

5
00
=
i
o

ﬂ/
ol

NOZ
Bir o) 3=

(x,y),x,y);

(6) MapleOllAl= DI

UL,

(5) diff

o
i

fill
o)

*

ode2Jt 2 4B Lk.

0lE odel,

ki

UK

@M
ol
3
EE

RO

# 2 0A

tCH.

[l

S

ot OF

ol
=

-
1o

ar
ol

= oxxdiff(y(x), x, x)+diff(y(x),x)+x*y(x) = 0;

> ode3

ot A

I

stz +

AtOLOfl

uln
<l

£

ol
<r
&0
10
JId

ul
&l

0l
<
KO

10
i

B
9]
wr

o

0l0

odesystem=2 =A™ Ct

0I5

axx(t);

diff(v(t),t)

_49_

v(t),

diff(x(t),t)=

> odesystem



DI2ALXL DE ME

D(f)OICt.

Map €Ol

> D(y)(1);

SUAL @ =

F

S
=

LIEFLHDI @Iof S &HRF D2F

G

2
[

A=
T =

ilo0

DA

A

# 24101

oD

> (1 0@D)(y)(t);

ol
o

> (0@a2)(y)(t);

0l
i

> D(D(y))(t);

ol

3l

nl

]
00

J

o0

-

Al

—_

)
0l0

= D(x)(t) = a*x(t) - b;
= D(D(x))(t)

> altodel :
> altode?

axx(t);
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ot A

I

stz +

AtOLOfl

Ul
<r

&

ol
<r
&0
10
JId

ul
&l

ol
<r
RO
10
Il
o

ul
&l

E
10
Al
ol

ol

RO

iy

uln
i

axx(t);

D(x)(t)=v(t), D(v)(t)

odesystem= =™ Ch

=

o

0l
> Dodesystem

o122
oW =

T -
—
Il

K L

(@)

2
[

3K
x(

2A0lILE
LA

ZI
Ol

202 Dodesystem
ICsE =HH

st 2

=
(=]

il Ol

313 K

22 0f

U= odeadvisor

IH2I Xl DEtoolsOl

ODEE =EFot=Ml

io)

00

i

nonliner, 2A0]

B0l

| inear,

0l 2elICt.)

| —

(=)

(dE0lH

3rd_order

|

2nd_order, 3H 0™

>odeadvisor (0DE);

[

™

1o
=
[

500712

y(t)+2y(t)

S|
<l
K0
o0

PSS

(OIlKl) 0I=

class Al]

50%exp(=10*t):
[[_linear,
_51_

=

>tode0:= diff(y(t),t)+2*y(t)

>With(DEtools):
>odeadvisor (tode0);



& )
(GIA) DI=2rE Al ﬁy(x)er(mS):O% =225tet.

>with(DEtools):

>todel:= diff(y(x),x,x,x)+y(x)"3=0:

>odeadvisor (todel);
[[_3rd_order,_missing_x],[_3rd_order,_with_linear,symmetries]]

? Z2UZ2RH FOHA DI2LEAE 3H(3rd_order) OI2YEAS & &+ UA2U
HHOIAl HIdgel X ZAFA H UL F0A 0I=2LZA01 SZet e
TXE JHK=AXE oot UsS 80 E 0lSsettt

>odeadvisor (ODE,y(x), [typel,type2,...1);

P
i
IS
|’E
i
S
x

O

S0 yol 022 E4A 00EJH typel, type2,...2lKE el

CZFH UI2LEA todel2 HIEHS S LAELY.

dQ
(WM)M%%@M-aE
>With(DEtools):
>tode:= diff(y(x),x$2)+y(x)*diff(y(x),x)=0:
>odeadvisor (todel);
[[_2nd_order,_missing_x],[_2nd_order,_exact,_nonlinear],_Lagerstrom,[_2nd_or

der,_reducible,_mu_x_y1],[_2nd_order,_reducible,_mu_xy]]

ZUERH FHE OI2HIAES 2H( 2nd_order), HIAE (_nonlinear) LS

= UCH.

40

ne
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I

I

fal

o
il

S
[
00
Rr

o)

It

Ct.

3

or=st

=
=

HHP O odeadvisor

IHD| Xl OEtoolsOll U=

= RUCH

ioll
%0

UF
It

ol

RO

10
wlz

It.

>with(DEtools):

>det:=diff(y(x),x)=(x-5)/y(x)"2;

>odeadvisor (del);

[_separable]

(_separable)2s &

ULH.

A
e

oJ
@

I

RO

>with(DEtools):

=y(x):

>de2:=x"2+di ff (y(x),x)+cos(x)

>odeadvisor (de?);

[_linear]

el Maple

HaE2E 0l Uolkes OF

o
j—

D

ol
H

==
1o

>odeadvisor (de2, [separable]);

cl&0l Ot

[
3+

gl
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1. dsolve HEO

Jt. ol8 %Y
>dsolve({ODE, ICs},dep_ver ,opt1,0pt2,...);
HIIM,
ODE — Ol FA = AHOIZUEFA
ICs — ZIIZAH(S)
dep_var — y(x)2 22 ZSHHH(E)
optl,opt2, ... — SHES
L. dsolve BB AlaiZ @ Lo L= S0, =IIX/ZAHX
FOHXNHE =& ZHE PHEotsE S=olE sttt X EoH
&tCEH. O, LEtol Lhel dolat+= C BZ LIEHHCE.

C}. Y& 0] dsolves CHYSH SENQ OI22™A 2HISEE %= O O
UCH. 0E =0,
(1) D2 AA ODE L= HEDI2HAAl sysODES| LBt S
——— dsolve({0DE,y(x)0; &= dsolve({sysODE}); S Ol
(2) ZJIX| =AH I|Cs2 2= 0ISUHA ODE L= HEHOISHHA
sysODES| HeEtst S 3 al

firrr

dsolve({sysODE, ICs}); S

== o€ ot O

E ~—"
E

F-IH ff, u =2 |'
3 4
lo

0

H
—— dsolve({0DE, ICs},y(
(3) DI2YyA L= gy 0
-—— S type=seriesE Al
(4) etEc2tA(Laplace), 20 (Fourier) Hatnt 2
0lZ6tH olE +ot= Ol
—— =& method=laplace L= method=fourierE 0I&
(5) OI=YdEA L= A0S A =X HE Fot= O

— S type=numericE AIES

OtO

FIO

il

HH
ol
i
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O HAE0I22E A lodell CHotOd
(1) dsolve(lode,y(x)); — LEtoHES P&tCt.
(2) dsolve(lode,y(x),output=basis); —— JI2H&AES PECt
0Fot |odedl HISXIDIEO|H AlsHANE [[JI=2oH& & ], E401] OICt
2. dsolveE 0|28 0|2YHAI9 E0|
. O8 DI2YEAIS ZE0at.
d yla)—1
da:y(x)_ z+3
[Z0l]
>de3:=diff(y(x),x)=(y(x)-1)/(x+3);
>dsolve(ded,y(x));
y(x)=1+(x+3)_C1
&=
>dsolve(diff(y(x),x)=(y(x)-1)/(x+3));
y(x)=1+(x+3)_C1
¥ (1) MapleOl 8t LetafLiel &ojas~= C1, _C2, _C3 s9
SEf2 LIEtCCEH.
(2) dsolveOll CHEH & B LSHS y(x)= LUGHE P M Mg £
Ch., OddUh e H0 2o 2H X0 U=IHE LIEHWD| I & S
OHOH B y(x)E EES A= s IJHXle H WO
L. s =DI8t 2HE EHct.
d y(:v)—l
= ,yl—1)=0
dx (z) r+3 ( )
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Step1 : 0|22 AS HeTh
>de3:=diff(y(x),x)=(y(x)-1)/(x+3)
Step2 : ZI|IXAHS HSGH
>ici=y(-1)=0
Step3 : HHHE A0t oHE &L
>dsolve({de3,ic},y(x));
S
y(r) = 55
>dsolve({diff(y(x),x)=(y(x)-1)/(x+3),y(-1)=0},y(x))
1 =z
y(w)-—“zi“?z
¥ (1) HEHUe 5235 {}= MaplelllAl &&S UEIHCH Oetd & %A
=N= SRotAl %L}
>de3:=diff(y(x),x)=(y(x)-1)/(x+3)
>ic =y(-1)=0

~

V
o
(2]
(@]
<
D
—
—
O
o
D
wW
a
‘<
A
v
= <

ol °'O1LP“ ’\'*E 0 =
2ot =0l 42t Chss 24X,
>ici=y(-1)=0;

>de3:=di ff(y(x),x)=(y(x)-1)/(x+3):
>dsolve({de3, ic},y(x));

Error, (in ODetools/info) y(x) and y cannot both appear in then given ODE.

FIO

()

ru

Ol EAS oo HEH= AMLE 2tEHSt 2301 OfLICY.
>de42=x*diff(y(x),x,x)+d|ff(y(x),x) x*y(x)=0;
>dsolve(des);

y(x)=_C1BesselJ(0,x)+_C2BesselY(0,x)
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? ZUE 2H Maple2 Bessel &0 2ot 21
OtOt= MapleOl dsolve HEHE 0I1E0td Ol=HE A
ANEE ot J=XE L A8 H0IC.

HHZ2 infolevel[dsolve]:=3:5 AISHAII|XF.

1H™ 0|=0l dsolveE 0| &Z0t
I

0z T

XN Al
S =

O
ML
o

? OI=SEA ded2 oHE 2| 2ol MapleOl S AI=S ot=Xl

> infolevel [dsolve] := 3:

> dsolve(ded);
Hethods for second order ODFs:
-— Trving classification methods -—-
trying & quadrature
checling 1f the LODE has constant cosfficients
checliing 1f the LODE 13 of Huler tvpe
trving & symetry of the fomm [210, eta=Flx)]
checking if the LODE is missing 'v'
=» Trving a Liowvillian solution using Kovacic's algorithn
<= llo Liowvillian selutions exists
== Trving a solution o terms of special functions:
-» Bessel
<~ Bessel successful
<= zpecial function solution successful

-

() = _C1Bessel](0, %) + _C2Bessel V(0
>
Jdedl ¥ &2 infolevel [dsolve] :=0:S AlsigtD L
dsolve(ode3,y(t));S ASHGIH Maple= ol y(t)BtS

>infolevel [dsolve] :=0:
>dsolve(ode3,y(t));

OlzddAls 2ARC2 E(Che A0l Maplell Z&EOI
2 E2 2= g = UL, HE =0, s8= Sot¢
ANEg = AU, HM3E= S80 ot Maple ==
el &ol =2 Dlsgdazs 2

s =0,

>dsolve(deb);

Maple2 ? 2HE +ot= XS ZEI[etlh.
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3. Oilxl

S —or+1 _ _
. L) = ST o onn g

dr Y Cos (y(m))—i—ey(‘r)

> todel:=diff(y(x),x)=(6xx"5-2%x+1)/(cos(y(x))+exp(y(x));

tode1'—iy(m)— 62 —2z+1
Cdx cos(y(x))—l—ey(‘r)

> dsolve(todel,y(x),implicit);
2% — 2 —|—:r—sin(y(x))—ey("") + Cl1=0

L. HIsSXt 012 d%y(x))—y(m):sin(x)g ol Bkal

)l

HI

d2
A ;;T{y(x)_‘(
X

>tode2:=diff(y(x),x$2)-diff(y(x),x)-y(x)=sin(x);

todezz=%y<x>—<d—‘iy<x>>—y<x> — sin(z)

>dsolve(tode?2,y(x);

ylz) = +e 2 :Eicl—i-%cos(m)—%sin(m)

Ch DIRYHEA y(z)+y (z) =sinz, y(0)=1,4 (0) =0

>dsolve({y(x)+diff(y(x),x$2)=sin(x),y(0)=1,0(y)=0},y(x)):
1

y(ac) = 58171(1’) +cos (z)— Ecos (z)z

_58_



4. 0|

SFHA HIBH

L

Al

b, =J1g M2 ol 2=

() L) — 2y($)=wcos($),y(2)=09| HE P50 H=A2 5
T dr 2
[E9]]
Stepl: & T4

> odel := 1/x * diff(y(z).z) - 2#y(2)/2"2 = z*cos(z);

odel = ——— - =L —cos(x) x
> ic = y(2)=0;

> goll:= deolve({odel,ic},y(z));
soll:=y(x) =) sm[.‘{l—x2 sin(2)

deolve3Zol: 8 W44 yi) ="z BT 4" FHE U} 222 HEIRZHIE of A 49 LERE Folfet Ht

Step: 89 9 EES Boldic)-—— rheFEoiE o/ faic
> specific:= rhs(soll);

spacific.= i sin(x) — e sin(2)

Bold 4 I sin(x) - sin(2)2
#4710k 4022 potd 2B e 24T 4 9o} w4 Bold 42 24z AvAe v

Steps: #] 0 E&S T AT} unapplyFFIE o 43k}
unapply: FEA AESES SEESRE FOTAS 2T
> f:=unapply(specific,z);

fi= o sin(x) - e sin(2)

Stepd plotAEeIS A43d dsf= o 2R2E 29 o — o
> plot(f(z),2=0..12); ] \ x/ \

- 150

—eo0 \
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2

Lb. 22 =JIXl 2H %x(t)zzx(t),x(o)zzﬂ Gie =S Dedet.

[Bol] 4 dAsl 9 242 5252
}
> de = diff(s(t),t,t)= 2x(t);

> ic = 2(0)=2, D(x)(0)=0;

> deolve({de,ic}.z(t));
> g = mapply(rhs(%),t);

> plot(g(t),t=-1.5..1.59,2=0..6, labela=["t"*x(t)*]);

zlt) 31
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[E9]]
L E9A4E 4Edd
> ode2:= diff(x(t),t t)+diff(z(t),t)-2=2(t)=0;
8 e L - axn <
ode? = o At + m M) —2xt) =0

I 2712387499
> 1C1:=x2(0)=3, D(x)(0)=0;

1C1:= X(0) =3,D(x)(0) =0
> 102:=x2(0)=0, D(x)(0)=3;

1C2:=x(0) =0,D(x)(0) =3
> 103:=x2(0)=-3, D(x)(0)=0;

103:=0) =-3,D(x)(0) = 0

}.
[l DEplot ¥ Fof& o 4t}

> with(DEtools):
> DEplot(ode2,x(t),t=-1..2, [[IC1],[IC2],[IC3]],]inecol our=[RED,GREEN,BLUE] );

1049
zir)
5
-1 Y 2
=10

_61_



(2) UBHGHO| 29| A& 2tS0| KB AL
(OF) Ol=2erE Al iy(x)— 2y($):x2008(x)9| ABIHE 5D
dx T
ololAb4 G0l 2t -2, -1, 0, 1, 2 Ol CH=5ts S22 JHT= 242t

[E9]]
I R it
> ode2:=diff(y(x),1)- 2/x #y(z)= 22 *cos(z);

d o 2y .
dedi= = y(x) - <22 - F cos(y)
ode » (] - cos(x]

I 9u#E 7
> gen_sol =dsolve(ode2,y(z));
qen_sol:=y(x) = % sin(x) + £ _Cl

0L 9945 C1F -2 -1, 0, 1, 29 dgste S4859 adzE 284
@) Srds9ATE 44T
> CurveFanily:={zeq(subs(_Cl=n,rhs(gen_sol)),0=-2..2)}; _
CurveFamily = [*tz sin(x), ¢ sin(x) - 2 £ sin(x) - 'R sin(x) + £ sin(x) +2 Y2|

b) plot3Fels &4 discont=true & A%}
> plot (CurveFanmily, 5=0..14,y=-500..300, discont=true);

3009
200

100+

- 100+

- 200

-300+

-500 -
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5. YEFUA ol ez
dy

DlEgma =iyl

. HE FotD Jei=S 12l &= f(x, y)ol HaL

ol

= g2 deld™ plots WHIIXIQ display 8O E 0180t & JAAZE £
22 20 A UEHHOIE 2= UCH.

d

(K1) DIREEA —y(z)=ay(x),y(0)=2 TR AAp
dx AR AR
YRR Arz t
ANV Arrrye
> with(plots): with(DEtools): PRY wN N AALENL
> de := diff(y(z),x)=x*#y(z): RENACER TR aa :
> ic = y(0)=2: -: : N \: \: : )r :« A
> dsolve({de, ic},y(x)): AN NN A2FL ': :
> g = unapply(rhs(%), x): AR TN e -
> plot1:=DEplot(de,y(x),x=—1.56..1.5,y=0..6, arrows=medium t \: : N A
color=COLOR(RGB, .5,0,1)): A A
> plot2:=plot(g(x),z=-1.5..1.5,y=0..6, color=coral, R : :’: r:
thickness=2): o = P
> display([plotl,plot2]); RN ot
15 1 05 o0 0’5 1 15

d 3 2 x
(O RI2) 02 Al d—i=2—z,y(0)=2

with(plots): with(DEtools):

de := diff(y(x),x)=3+2"2/(2+y(z));
ic = y(0)=2;

dsolve({de, ic},y(z));

VvV VY

yix) = 4+

> g = unapply(rha(%) . x);
gi=x— 443
> plot1:=DEplot(de,y(x),x=—2..3,y=0..5,arrows=med ium, * 7 -~ e e I A AP N
color=COLOR(RGB, .5,0,1)): el e 2 A PR
TTUETe AT e A N
> plot2:=plot(g(x),z=-2..3,y=0..5 color=coral , PR DR D Y I
numpoints=100,thickness=2): A A - PR G O
- . A A e e 7/ I e
> display([pletl.plot2]); T DA DA
A= | = R N O
A A A SR - E——— .Y . I
A A A o, - : e AAFL PP
A B N N I I A
A A e e A I I
P e e B Y N I I I A I
g A e - AP 1-“ EEE IR
[ A R e SRS O O O B
L N L I I T T N I I O
[ R S I I S R S
tt IR RS TR S I O O O B
. ; . : :
-] -1 o] 3
=
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KIo
A0

ol
]

At

i

A™H HAON odetest

odetest(sol,0DE);

odetest(sol,0DE,y(x));

odetest(solsys,sysODE);

OIIA,

<

10

It

— 0

ODE
sol

s
o
Ko

-

AD

RO

sysODE -

==
1o

RO

iy

L[l
ol

‘0

2+
BA

Ct™ odetest=

E=DNE=l

t

2

ol

(@)

A
AL

RO

|.

g
=)

iy

KJ

Kk

)
ol
U
Ko O
A0 KH

axx(t);

diff(x(t),t,t)=

>ode?:

J:(t) = a:c(t)

ode2:

off

<]

>s01 :=dsolve(ode?,x(t));

Cle (1,7‘,_'_ 6267 at

sol :=x(t) =

I odetestE HEZolEH

0

ol CH
>odetest(sol,ode?,x(t));
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H 5 & 028 &

H 12 02

Jb. Jei=E 0l
JHAE AL

(1) x=00lA =80l =M StK

>fi=x->sin(1/x);

>plot(f(x),x=0.1..1);

>plot(f(x),x=0.001..0.1);

,_.
1

=
(L

I | fl |'| III"-I I /\\\
‘ ‘|| “ M {. I"I
“ I H

54‘00#00?00? OfDSOOQO 10

III

| || | I| |II \Ill
H I |I | | \ /

n' Illllullll
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= Jl=&el gAal2 limit(+4!,x=a)0l1
|

gt=2 Potd™ all infinity £= —infinityS AIE06tH

=
& =38t L= 2 =8t= FotdH x=a LSOl left L= rightE =0

>limit(sin(1/x),x=0);

>limit(sin(x)/x,x=0);

1
>limit((x*2-x-2)/(x-2),x=2);

3
>limit ((14+1/x)™x, x=infinity);

e
>limit((1+1/x)™, x==infinity);

e

>fi=x->piecewise(x<0,0,exp(=1/x));
o1

fi=x—piecewise(z <0,0,e )
>limit(f(x),x=0);

0
>plot(f(x),x==1..1);

0.3 /
/
/

0.2 ;’/

0,14 ;,ff

/
1 0.5 0 0.5 1
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>fi=x—>piecewise(x<1,x+1,5-x);
fi=x—piecewise(z < 1l,x+1,5—x)
>plot(f(x),x=0..4,y=0..5,discont=true,color=blue); s

4

3

>limit(f(x),x=1);

undef ined
>limit(f(x),x=1,left);
2
>limit(f(x),x=1,right);
4

frix)= &= f(x)2 0122 =4 (f(xth)-f(x)/h0lA hE 022 2 A

> i=x—>x"2-3*x+4;
fr=p—r®—3x+4

>g:=h=>(f(xth)-f(x))/h;

) (x+h)—(z)
g:=h f 5
>simplify(g(h));
2x+th-3
>limit(g(h),h=0);
2x-3

MetM f'(x)=2x-30lct= 282 WE =+ UL
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(OiLAI)

>fi=x—>piecewise(x<0,0,x*sin(1/x));

. . 1
f:=x—»p|eoeW|se(m‘<(L(Lmszn(;;ﬁ

>plot(f(x),x=-0.05..0.1);

>a:=limit(f(x),x=0);
>limit((f(h)-a)/h,h=0,right);

>fi=x->piecewise(x<0,0,x2xsin(1/x"2));

1
fi=z—piecewise(r < 0,0,2%sin(—))

>plot(f(x),x=-0.05..0.1);

>a:=limit(f(x),x=0);

a.=

>limit((f(h)-a)/h,h=0);

MetA = Bl gf== x=00lA 0l =27ts014,
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3. Differential operator D€ 0|06l 0|2

DE diffets el =0l

>D(sin); D(tan); D(sec);

>fi=x—>exp(x)*sin(x);

>0(f);

x$10);

4, HH9
f(x)2l x=a

¥ unapply (==

>fi=x->sqrt(14x);

A2 SH

O

t= S0l R2IokAL.

D(log);
cos

1+tan’
sectan
1

z——
z

f:=x—e"sin(z)

x—e"sin(z) +e“cos (x)

x——4e"sin(z) —4e“cos ()

x—32¢"cos (x)

32¢"cos ()
HHAE2 L(x)=f(a)+f'(a)(x-a)OIC}.
=AlE &2 U == JIsS &t
f=r—>vVaz+1
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>plot(f(x),x=—1..3);

>plot(f(x),x==0.2..0.2);

>diff(f(x),x);

>df :=unapply (%, x);

>Li=x—>f(0)+df(0)*(x-0);

>plot([L(x), f(x)],x==1..3):

2.5
i
1.5
1 e
I
L7
/ o.5
1 ]
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UHEA MIIE2 HA f'(x)=08 Z20UHA
Fed® fsolove(f(x)=0)2 £Ct.

4 rr
[e]]

% Ol TotNl Rots ZR0E ot EMoks 72 [ablS oIS S0

SXi=X L
>fi=x—>x*exp(-x);
fi=x—>xe
>df :=unapply(diff(f(x),x),x);
df :==x—xe “—xe

>fsolve(df(x)=0):
>fsolve(df(x)=0,x=-10..10);

>ddf :=unapply(diff(df(x),x),x):
ddf :=x——2xe " +xe *
>ddf(1);

-1

®

& = UCH

njo

f'(1)<0 0122 f= x=10M ZIHOt El= A

>plot(f,-1..4,-0.5..0.5);
0.4
.//Fi e ~
0.2 "ff \"\.
. ~_
1/ T~
1 q 1 2 3 4
o]
,CEI',.,,_
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¥ Maplell= =, ZAE 0t Y8 Z maximize2t minimizedt ULk,
>maximize(f(x),x=0..5);

>minimize(f(x),x=0..5);

6. display

HEHIP FOHN B=2 OHEZZ LIEY MOl plotE £ 2 RUCH displays 1
Sl plot2 20F= &4, 0l e plotE2 SAIN 20=I| fIoiM ALE
StCF.
¥ displayE AFE0lJ| fIoiA = with(plot): & 2&E5t0 plots WIIXKIE

=20 StCt.

>data_list:=[[-2,4].[-1,1],[0,0],[1,1],[2,4],[3,9],[4.16]];
data_list:=[[-2,4].[-1,1],10,0],[1,1],[2,4],[3,9], [4,16]]

>plot(data_list);
16 /

1d+ f’
124 f.f'

104 /
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>plot(data_list,

style=point,

symbo I=box);
16
14
124
104
o
o
o
.
Il 0 ]I.

>a:=plot(data_list,color=blue):

>bi=plot(data_list,style=point,symbol=box):

>with(plots):
>display(a,b);

169

144

124

104
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Z0 ol TH=0 210, XN MapleOlAl XMiESot=

Az 13
dH=2 2dsl = 2 JtAl =2 & ZI_‘?'_IF
1. 24 ofell HE<ol 20|
1 1
(Gl A1) f(x)=1+5x+§xsm(x) , [1,3]
>with(plots):
>fi=x>1+x/2+(x/3)*sin(x"2); a:=1; b:=3:
fr=a>1+ %{E—F %xsin(f)
a:=1
b:=3

>area_plot(f,a,b);

_74_
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(GIA2) f(z)=2>+3 , [-2,2]

>fi=x—>x"2+3:
>area_plot(f,-2,2);
>area_plot(-f,-2,2);

(GIR3) f(z)=10+6x—2"

>fi=x—>10+6%x—x"2; a:=-3; b:=9; area_plot(f,a,b):
fi=2—10+62x—2"

a:=-3

b:=9
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a

AL

2. HE Jis@E g+

(O RI1) >f:=x—>piecewixc(x<2,—1,x<B,2-x/2,x<8,0.5*x"2-6x+18,1);

) . 1
fi=x—piecewise(z <2,— 1,z < 6,2—§x,x < 8,0.52° — 62 +18,1)

>a:=0; b:=10; area_plot(f(x),a,b);
a:=0
b:=10

(OIRI2) f(z)=VIz*—9—2 , [-5,5]
>f:=x->sqrt(abs(x"2-9))-2;
>a:=-5; b:=5; area_plot(f(X),a, b);
fi=x—Vl]z>—9—2
a:=-5
b:=b
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3. clatg

. flx)=2—b22+z+10 , [-1,4]
>restart;
>fi=x—>x"3-5*x"2+x+10;
fi=—a®—5z"+x+10
>plot(f(x),x=-1..4);

/ N
/ \
/ 8 \
N
\\
\
L © 1 é\ 3
X \\
5 N
(1) B2 [-1,4]2 6S=28 22

(JF) rightbox
>with(student):
>rightbox(f(x),x=-1..4,6);
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>rightsum(f(x),x=-1..4,6);

5 5 3 5 .\ 5.
= — 1+ —5(—1+=0)*4+9+=
6,;:0(( 6@) 5(—1+ 61) + 61)

>eval f (%)

10.54398148

>evalf(5/6*f(-145/6)+5/6%f (-1+2x5/6)+5/6*f (-1+3%5/6)+5/6*f (-1+4+5/6)+5/6
*f(-145%5/6)+5/6%f (-1+6%5/6) ) ;

10.54398148
>eval f (sum(1*f(=145/6%k) ,k=1..6));

12.65277778

(LF) middlebox
>middlebox(f(x),x=-1..4,6);

\ T
>middlesum(f(x),x=—1..4,6);
oy 7, 5. . 7 .5, 113 5
GZ¥(]2+60 5( m+6”_+12+60

>eval f(%)

13.06134259
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(CH) leftbox
>leftbox(f(x),x=—1..4,6);

>leftsum(f(x),x=1..4,6);
5 & 5 3 5\ 5.
6;(( 1+6z) 5( 1+61) +9+61)
>eval f (%)
14.710648

(2) B [-1,4]12 12528 22

>rightbox(f(x),x=—-1..4,12);

f T + T
-1 a 1 2 3
z
5

eval f(sum((5/12)*f(-1+kx(5/12)) ,k=1..12));
11.80266204
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(3) HIT2 [-1,4]2 24528t 22
>rightbox(f(x),x==1..4,24);
TP
/
1 0 1
_5+

eval f(sum((5/24)*f(—1+k*(5/24)) k=1..24));
12.37774884

(4) HT2 [-1,4]2 48528t 22
>rightbox(f(x),x=—-1..4,48);
oM
777 l‘s
1 0 1
_5

eval f(sum((5/48)*f(—1+k*(5/48)) ,k=1..48));
12.65172888
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(5) HWI=2 [-1,4]2 %652

%‘

o

o
T

>rightbox(f(x),x==1..4,96);

=

_5

eval f(sum((5/96)*f(—1+k*(5/96)),k=1..96));
12.78532805

/ (ac3 — 5% 4 x+ 10)dz

%az‘l — %xs + %azQ +10x
>int(f(x),x==1..4);
155
12

>eval f(%)
12.91666667
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